TERM 1-2013 MID TERM EXAM
FORM 3, COMPUTER STUDIES
TIME: 2 ½    HOURS

Instruction
Answer all the questions:

SECTION A (40 MARKS)
Answer all Questions in this section in the spaces provided.
1. 	List two devices that use micro-electronics in their operations 			(2mks)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
2. 	Give two reasons for use of binary system in computers				(1mk)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
3. 	a)	Name two ways in which data can be input into a computer, and state the device 
          that can be used in each case.								(2mks)
…………………………………………………………………………………………………
	…………………………………………………………………………………………………
	b)	Explain why a buffer is used in the output of data to a line printer		(1mk)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
4.	Explain the purpose of the following types of memory				(2mks)
	i)	ROM……………………………………………………………………………………
…………………………………………………………………………………………
	ii)	RAM ……………………………………………………………………………………
…………………………………………………………………………………………
5.	What is a peripheral device								(1mk)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
6.	Give two reasons why computers need backing storage				(2mks)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
[bookmark: _GoBack]7. 	a)	List any four high level programming languages.				(2mks)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
…………………………………………………………………………………………………
	…………………………………………………………………………………………………
	
b)	Distinguish between compilers and interpreters					(2mks)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
    	…………………………………………………………………………………………………
	…………………………………………………………………………………………………

8. 	a)	Explain the term DOCUMENTATION as used in computer software	(2mks)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
…………………………………………………………………………………………………
	 b)	State one application of DOCUMENTATION				(1mk)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
…………………………………………………………………………………………………
	…………………………………………………………………………………………………
9.	State four ways in which computers and their related technology are used in 
      medical research										(2mks)
     …………………………………………………………………………………………………
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
10.	Differentiate between formatting the disk and document formatting 		(2mks)
     	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
    	 …………………………………………………………………………………………………
	…………………………………………………………………………………………………
11.	Give one function of a primary key							(1mk)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
	………………………………………………………………………………………………….
12.		a) 	State four database model 							(2mks)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
     …………………………………………………………………………………………………
	…………………………………………………………………………………………………
	      b)	Describe data processing cycle						(3mks)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
    …………………………………………………………………………………………………
	…………………………………………………………………………………………………
     ……………………………………………………………………………………………….

c) Explain the difference between autocomplete and auto correct			(2 marks) 
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
	…………………………………………………………………………………………………
13. 	a)	List two types of paper orientation						(2mks)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
	b)	Name two keys used to delete text in a document				(2mks)
	…………………………………………………………………………………………………
	…………………………………………………………………………………………………
14.	a)	Identify two different applications in a school that might be implemented by using 
               a spreadsheet package								(2mks)
…………………………………………………………………………………………………
	…………………………………………………………………………………………………
b)	For each application, give two features that make a spreadsheet package particularly 
                        suitable									(2mks)	
	…………………………………………………………………………………………………
	………… ………………………………………………………………………………………
…………………………………………………………………………………………………
	…………………………………………………………………………………………………
15.	Translate the hexadecimal number 8E into 						(2mks)
		    a) 	Binary




1. Denary




SECTION B (60 MARKS)
Answer Question all questions  from this section in the spaces provided.
16. 	a) Convert the following base two numbers into denary        (6mks)
	i. 01012







	ii. 10110012











	iii. 1110001112
 






b)	The various services are to be provided by servers. Briefly describe the services 
                    provided by									(3mks)
		i)	Print server ……………………………………………………………………
			…………………………………………………………………………………
		ii)	Internet server …………………………………………………………………
			…………………………………………………………………………………
1. Intranet server …………………………………………………………………	
…………………………………………………………………………………
c)	Electronic mail (E-mail) is very popular. Explain how you would prepare and send a  
                    message using  e-mail								(3mks)
…………………………………………………………………………………………
…………………………………………………………………………………………
........................................................................................................................................
17. 	a)	Explain how you can defend your files from the following risks		(4mks)
		i)	Fire in the computer ……………………………………………………………
			…………………………………………………………………………………
		ii) 	Hackers ………………………………………………………………………..
			………………………………………………………………………………….
		iii)	Virus attack …………………………………………………………………….
			………………………………………………………………………………….
		iv)	Disgruntled ex-employees ……………………………………………………..
			………………………………………………………………………………….
	b)	Differentiate between private data and confidential data			(4mks)
		………………………………………………………………………………….
		………………………………………………………………………………….
		………………………………………………………………………………….
		………………………………………………………………………………….
	c)	List three sources of viruses							(3mks)
		………………………………………………………………………………….
		………………………………………………………………………………….
		………………………………………………………………………………….
	


d) Work out the following binary additions						(2 mks)
				  1001012
		    		   110112
			     	    10112
			


	e) Determine the value of X2,         1001102 – X2 = 0010102			(2 mks)
 




18.  a) Define the following terms:							(1 ½  mks)
		i. Bits……………………………………………………………………………………
……………………………………………………………………………………………..
		ii. Nible………………………………………………………………………………….
……………………………………………………………………………………………..
		ii. Byte…………………………………………………………………………………...
………………………………………………………………………………………………

b) State three reasons for use of binary in digital technology 				(1 ½  mks)



	c) Convert the following binary numbers to their decimal equivalent			(6 mks)
i. 0.100112







		ii. 0.00102






		iii. 100.1102
 



	d)	 Convert the following octal numbers to decimal numbers   (1 ½  mks)
			i. 778

			ii. 1028




			iii. 1668

	e) 	Convert the following hexadecimal numbers into decimal numbers (1 ½  mks)
			i. CCD16



			ii. 32816



			iii. 11ABDF16 



	f)  Determine the value of X in the equation ,  X2 + 11012 = 7010			(3 mks)







19. 	(a) 	Compute the values of X in the following expressions:
i) 	24.3510 = x2								(3 marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………

ii) 	6A13H =X10 								(2 marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………	………………………………………………………………………………………………………………

iii) 7468 = XH 									(3 marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………

(b) 	Using two’s complement compute the following:
(+36)10 + (-25)10									(5 marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………

(c) 	Perform the following binary arithmetic, giving your answer in decimal notation;
11101.11 +111.011 								(2 marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………
	……………………………………………………………………………………………………………………………………………………………………………………………………………………………………
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